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Occurrence code 34

5 qe fae & folT 0 & e &1 RS B b foly Iua TRt T ST R & IR H 7 HIT, <1fehT I8 T8 P el & | FHIE T8 & fob &R IR I§ AT TS S IR Iu-clele] Nebie v, IR IR 3fcRTet & RIS o foly goa, d1fd 3rgger 993 1 811 #include #include&lt;cstdio&gt; #include #include #include
#include&lt;cstdlib&gt; #include #include #include #include&lt;cstring&gt; #include #define&lt;string&gt; &lt;algorithmé&gt; &lt;iostreamé&gt; &lt;queue&gt; 9 9T T N} #define push_back #define push_back #define&It:map&gt; &It;cmath&gt; &lt;set&gt; &lt;stack&gt;3TEmT (x,y) &gt; (y)?? X) () #define
1T (x,y) ((¥) &gt; (¥)? y):(x)) #define cls (A, TT) memset (M, x, 3MHR (TF)) /0881 #define THTH Usat #define AT ST TR #define HIFE make_pair #define TaT (3T)) (1 &lt;x) using= namespace= std;= const= int= inf=1e9+10; const= lI= llinf=1e16+10; const= int= maxn=8e3+10; const= int=
maxm=2e5+10; const= int= mod=1e9+7; int= n,q;= int= ans[maxn][maxn];=&gt;&lt;/x)&gt; &lt;int&gt;v[maxn]; FFM&It;int,int&gt; mapp; int G () {/freopen (in.txt, r, stdin); cls (ans,-1); Th (% d%d,&amp;n,&amp;q); & folv (int i=1;i &lt;=n;i++) V[i].pb(0);= for(int= i=&gt;&It;/=n;i++)&gt; &lt;=n;i++) {= int=t;=
scanf(%d,&amp;t);= if(mapp[t]==0) mapp[t]=i; v[mapp[t]].pb(i);= }=&gt;&lt;/=n;i++)&gt; &lt;int,int&gt;c; S4dfd (g--) {int x,y; scanf (%d%d, &amp;x,&amp;y); af (@ans[mapp[x]JImapp [y]]'=-1) {TIEH (%60 , ANS.MAPP-X.. | i o o oo ettt e e e e e e e e e e e e e e e e e e e e
................................................................. | STRY ;S (x-y.) (mapp [X]==0&amp;mapp [y]==0))

ST L RS 1 =T o PP PP PP PPT R RUPPPPRPIN 3R 3FR (mapp.x.0.) mapp (y)?0) (mapp?x?? 0?
mapp=x?mapp=y)); int sum=0,len; & fag (int i=1; &lt;v[t].size();i++) {= int= len=V[t][i]-V[t][I-1]-1; sum+=len*(len+1)/2; } = len=n-V[t][v[t].size()-1]; sum+=len*(len+1)/2; ans[mapp[x]][mapp[y]]=sum; }= else= {= c.clear();= int= sum=0; int= t1=mapp[x],t2=mapply]; for(int= i=&gt;&lt;/Vv[t].size();i++)&gt;
&lt;v[t1].size();i++) printf(%d= ,v[t1][i]);= printf();= for(int= i=&gt;&It;/V[t1].size();i++)&gt; &lt;v[t2].size();i++) printf(%d= ,v[t2][i]);= printf();*/= int= XI,xr,idx1=0; int= yl,yr,idx2=0;&gt;&It;/V[t2].size();i++)&gt; &lt;&gt; &lt;v[t2].size()) {= xI=v[t1][idx1]; if(idx1+1=&gt;i=v?t1?. size () xr=n; 3R xr=v?t1?=idx1?1?-1; yl=v?
t2=idx27?; 3R and yr=v?t2?idx2=1?-1;/printf (%d%d:%d:%d,?%d/d:%d", xI, xr, idx1, yl, y r, idx2); int lane (min (xr, yr)-max(xl, yl) s1); Amount SC idx1-idx2) slen s (len-1)/2; c (idx1-idx2) if (xr&lt;yr) idx1++;=else= if(xr=&gt;yr) idx2 ++; and {idx1+;idx2+++; } ans [mapp[x]]][mapp [y]]=sum; printf (%d,
ans.mapp.X. .mapp.y)); 0 return; | also thought of using a prefix array to record a value of 0 for each bit, but it's not efficient. The solution is to record the sub-label every time this number appears, and then by asking for the intersection of the interval, so that there is no customization time. #include
#include&lt;cstdio&gt; #include #include #include #include&lt;cstdlib&gt; #include #include #include #include&lt;cstring &gt; #include #define&lt;string&gt;&lt;algorithmé&gt; &lt;iostream&gt; &lt;queue&gt; long pb #define push_back #define push_back #define&lt;map&gt;
&lt;,cmath&gt; &lt;set&gt; &lt;stack&gt;max (x,y) &gt;(y)?? x) :()) #define minutes (x,y) ((x) &gt; (y)?y) :(x)) #define CLS (name, X) memeset (name, x, size (name) //0 or -1 #define FS first #define SC second #define MP make_pair #define L (x)). &lt;/stack&gt; &lt;/set&gt; &It;/cmath&gt; &lt;/map&gt;
&lt;/queue&gt; &lt;/iostream&gt; &lt;/algorithmé&gt; &lt;/string&gt; &lt;/cstring&gt; &lt;/cstdlib&gt; &lt;/cstdio&gt; &lt;/yr)&gt; &lt;/v[t2].size())&gt; &lt;/int,int&gt; &lt;/int,int&gt; &It;/int&gt; &lt;/stack&gt; &lt;/set&gt; &lt;/cmath&gt; &lt;/map&gt; &lt;/queue&gt; &lt;/iostream&gt; &lt;/algorithmé&gt; &lt;/string&gt;
&lt;/cstring&gt; &lt;/cstdlib&gt; &lt;/cstdio&gt; &lt;/cstdio&gt; Using namespace STD; Const inf = 1e9+10; Const llinf = 1e16 +10; Const instant maxon = 8e3+10; Const instant maximum = 2e5+10; Const Instance Mod = 1e9 +7; int n,q; int ans [maxn][maxn]; Vector&lt;int&gt;v[maxn]; Map&lt;int,int&gt;mapp;
for the int main() {/freopen(in.txt, r, stdin); cls(ans,-1); scans (%%D, &amp;n, &amp;q); (int i=1;i&It;=n;i++) v[i].pb(0); = for(int= i=&gt;It;/=n;i++)&gt; &It;=n;i++) { = int = t;= scanf(%d, &amp;t);= if(mapp[t]=0) mapp[t]=i; v[mapplt].pb(i);=}=&gt;&It;/=n;1+)&gt;&lt;int,int&gt;c; While (g--) { int x,y; scanf
(%d%d,&amp;x,&amp;y); if (ans[mapp[X]]lImapply]]'=-1) { print(%d, ans[mapp[x]]];[ mapp[y]]); Continue; }if (x==y.. (mapp [X]==0&amp;mapp [y]==0)) { ans [mapp[x]][mapp [y]]=n*(n+1)/2; } And if (mapp[x]=0..mapp[y]==0) { int t=(mapp[x]!=0?mapp[x]: mapply]); int sum=0, len; for (int &lt;v[t].size(); i++)
{=int=len=v[t]-v[t][i-1]-1; sum+=len*(len+1)/2; } = len=n-V[t][Vv[t].size()-1]; sum+=len*(len+1)/2; ans[mapp[x]][mapp[y]]=sum; }= else= {= c.clear();= int= sum=0; int= t1=mapp[x],t2=mapply]; for(int= i=&gt;&It;/v[t].size();i++)&at; i=1;i=V[t1].size &lt;v[t1].size();i++) printf(%od=,v[t1][i]);= printf();= for(int=
I=&gt;&lt;/v[tl].size();i++)&gt; &lt;v[t2].size();i++) printf(Y%od=,v[t2][i]);= printf();*/= int= xI,xr,idx1=0; int= yl,yr,idx2=0;&gt;&It;/v[t2].size(); i++)&gt;&It;&gt;&at;Vv[t2].size()){=xI=V[t1][idx1]; if(idx1+1=&gt;()) xr=n; and xr=Vv[t1][idx1+1]-1; yl=v[t2][idx2]; if(idx2+1&gt;=Vv[t2].size()) yr=n; and yr=v[t2][idx2+1]-1;
[lprintf([%d%d:%d], xI, xr, idx1, yl, yr, idx2); int len=(min(xr,yr) (xl,yl)+1); amount +=c [idx1-idx2]* lane + lane * (1)/2; c [idx1-idx2]+=len; if (xr&It;yr) idx1++;=else=if(xr=&gt;yr) idx2+++; and {idx1++;idx2++; } ans [mapp [X]]][mapp [y]]]=sum; } printf (%d, ans [mapp[x]]; } Return O; - Buzz Starter « #1 « Jul 4,
2008 We are currently on a trip and had a strange problem with our Ody. ABS, TCS and (brake) light came on while driving on the highway. | had a quick check and everything was working fine. The lights all went out after a minute. About a minute later, the entire instrument cluster died, as if | had
stopped the van. Quick checks and everything proved to be working fine, aside from the instrument cluster. After about 5 seconds it came back. No problem since. Regardless, we were concerned about being stranded on the highway in the middle of nowhere with three children. We made it to the next city
and closed. Took it to a local dealership today for a diagnostic. For $100, | got the same: diagnostic scan for code. 34-2 ABS electrical, ABS brake not issue, potential throttle position reference voltage issue. Check the system, no other fault codes. Can't copy problems. Prospects include the cluster
problem or another power issue. More time is required for diagnosis. So apparently anything Deciding as they can't find a problem. They wished us good luck and told us that enjoying our holiday is very difficult when we are not relying too much on our vehicle. We're going back on the road tomorrow.
About 600 kilometers to our destination. Any &It;/yr)&gt;&lt;/v[t2].size())&gt;&lt;/int,int;int&gt; &lt;/int;int;/int&gt; &It;/int&gt; &lt;/int&gt; Maintenance requirement required Black carbon soot also. | cleaned it up and took some pics. The first shows the electric contact ring and wear on top of the contacts. 48.1 KB
View: 227 - Buzz Starter « #20 « Jul 15, 2008 The second picture is of the least worn contact point. It gives a good idea of what condition should ring in. 38.7 KB Views: 164 164
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